PNEUMATIC COUPLINGS . -
PNEUMATISCHEKUPPLUNGEN ~ =~ = 8%
// % %
/ 2L Y
j 77 ///; //
/ v
SERIEQ21 | "/

Material Code

Materials
A = Brass

0,000,
B = Brass
XXX N
QRIKE
< s C =Brass
S = Brass
0 - 35 bar -20° to + 100°C (NBR) Shut Off
(0-508 PSI) -4° to + 212°F Type

OM 178 - 00765
560 It/min D N

Air Water
1,2 6,0

| / ; /
0,8 4,0

>
|
|
»——31¥3$ 151

OM 200 - 00450

; 4 5
0 o
o 06 / 2 3
o / s
a o
2 0,4 / % 2,0 /
A o2 / 2 10 /
o ~ $ ~
o o0 o o0 =
0 200 400 600 800 0 5 10 15 20 25
Flow Rate in I/min Flow Rate in I/min
Options Plug Profile Serie 021 Compatible with
AEERE SR PARKER - RECTUS 21,90
= CAMOZZI MINI SERIE
Stainless Steel Stainless Steel g g LEGR'S 9200
Tl
|

021K 021E

NICKEL




PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

SERIE 021

| Euro Profile - DN5'|

QUICK COUPLINGS SCHNELLKUPPLUNGEN

—O>-| with male thread —O>-| with female thread —O>-| with standard hose tail —O~  with panel mount hose tail

Comecten Fotne v L o0f coecton e, S L oo Rcoveeior Patve S L oo

BSP1/8" 021EG10 14 37 163 BSP1/8" 021DG10 14 365 163 4mm-1/6" 021HG 04 163  4mm-M10x1 021 MG 04 16,3
BSP1/4" 021EG13 17 39 163 BSP1/4" 021DG13 17 385 163 é6mm-1/4" 021HG 06 14 47 163 5mm-M12x1 021 MG 05 17 61 16,3
BSP3/8" 021EG17 | 19 39 163 BSP3/8" 021DG17 19 385163 8mm-5/16" 021HGO08 14 47 163 6mm-M12x1 021MG 06 17 61 163
M12x15 021EGM12 17 40 163 M12x15 021DGM12 17 395163 9mm-5/14" 021HG Q9 14 47 163 8mm-M12x1 021MGO08 17 61 163
M14x15 O021EGM 14 17 | 40 163 M14x15 021DGM14 17 395163 10mm-3/8" 021HG10 14 47 163 10mm-M14x1 021MG10 17 61 163

—O)—! with panel mount plastic hose tail —O>—| with plastic hose tail

Connection PartNo. |SW | L | @D Connection Part No. | SW ‘ L | @D Connection PartNo. [SW| L | @D
4x6mm-M10x1021SG04 14 55 163 4x6mm-M10x1 021PG04 14 43 163 4x6mm-M10x1 021YG 04 14 1195 163
6x8mm-M12x1 021SG06 17 55 16,3 6x8mm-M12x1 021PG06 14 43 16,3 6x8mm-M12x1 021YG 06 14 1245 163

PLUGS STECKNIPPEL

-<— with male thread ~<— with female thread -£(— with standard hose tail ~&—with panel mount standart hose tail

i —w b=

&
L]
SW sw SW.

- Connection Part No. Sw ‘ L Connection ‘ Part No. ‘ L | @D Connection PartNo. |[SW | L
BSP 1/8" 021EU 10 BSP 1/8" 021DU 10 14 25 4mm-1/6"  021HUO4 32 89 4mm-M10x1  021MU 04| 14 | 50
BSP 1/4" 021EU 13 15 27,5 BSP 1/4" 021DU 13 17 27 5mm-1/5" 021HUO5 32 89 5mm-M10x1 021MUO5 14 50
BSP 3/8" 021EU 17 17 28 BSP 3/8" 021DU 17 19 27 6mm-1/4" | 021HUO6 32 89 6mm-M12x1  021MU 06 14 50
M10x1 021EUM10 | 12 26 M10x 15 021DUM10 14 26 8 mm-5/16" 021HUO08 32 ¢ 8mm-M12x1 021MUO8 14 50
M12x15 021EUM12 | 14 | 275 M12x15 021DUM 12| 14 27 9mm-5/14"  021HUO09? 32 10 9mm-M12x1 021MU09 14 50
M 14 x15 021EUM14 | 17 28 M14x15 021DUM 14 17 27 10mm-3/8" 021HU10 32 N 10 mm - M 14x1 021MU10 17 | 50

~<— with panel mount plastic hose tail ~<— with plastic hose tail with plastic hose tail and spring
L

I

Connection Part No. SW| L Connection Part No. L | @D Connection Part No. L |@D
4 x 6 mm - M 10x1 021SU04 14 44 4x6mm-M10x1 = 021PUO4 33 10 4x 6 mm - M 10x1 021YUO4 105 10
6x8 mm -M 12x1 021SU06 17 44 6x8mm-M12x1  021PUOS6 32 12 6x8 mm -M12x1 021YUO6 1135 12




